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MATHEMATICS
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1. Fill in the following blanks with the correct answers.
(1) 2a° x(=3ab’ ) +(-6a'h’) = | .
(2) The range of x that satisfies the following inequality

je-ij<3 s (@] <x< [@].

{(3) When x—3x+1=0

(4) There are ten cards numbered from 1 te 10.

1 . ;
, then x+—=| ) |, x°+

£
X X

Take out three cards from them.

i) The probability that the product of the numbers of the three cards is an odd

number is

ii) The probability that the sum of the numbers of the three cards is an even

number 1=

1
(D

)]
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(5) Take a triangle ABC, where AB=(x,2,1), BC=(=1,y,4)and CA=(3,-5,z).

Then x —— m and z —- and the scalar product of

two vectors AB AC ,

() The graph of y=log.(8x—16) corresponds to a graph shown by shifting the

graph of y=log,x by - on the x-axis and by on the yp-axis.

@] ]

L =7,

is a geometric progression.

is an arithmetic progression.




(8) Ifi 1 =g,then n= [ .

i k(i +1)
(9) When f(x)=(x+3)(x-35), then a differential coefficient f'(-1)= .

2. On the plane ¥y, there are a parabola y=x"+x-2-+@ and a straight line

y=3x+a @,
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(1) The xy coordinates of the vertex of @ are [

When @ and B have common points, then ui :

(2) If a = 1, then the x coordinates of the intersection of @ and B are and

- = ; I:'E?‘
. and the area (area A) which is surrounded by & and @ 15T2J-. When a

2 2 3 e T’I
circle with the radius ¥ (x~ + 3~ =¢~) iz included by area A, then 0 <p < _ :

3. Find the integer that is the closest to the result of the caleulation, and fill the blanks

with a number shown below.

@ (V-+2) =[]

(3) sin30°+cos45°+ tan60° = ]
2N 50 G (2 2“[2}5
@ Z+|=| +=| +|=| H=2]| =
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(5) J-:{_rl +3x—1)dx =[



